do /dp_ [mu b/MeV]

Ratio to LHCB

=
o

T

1072

0.5

7000 GeV pp Soft QCD
[ I | I I I | I I I I | I I | I I |_%
- PT(p (2.44 <y < 4.06) -3
=
— —~
— = AN
— Jo
- —
L — M
— m — O
_m;.... _é
I I3
= 39
- —©
- 18
L —
1=
m LHCB >%
— --3-- Herwig 7.0.0 default —c
= —a— Pythia 8.186 default " e
- ¢ Sherpa 1.2.2p default s 7 E{
S
= , | M | | |, , | P I I B ,—E -
= ' [ ' ' [ ' ' ' ' [ ' ' [ ' ' ' ' 1
- 22
- : .
B A\‘\‘\H’A——A/A/‘ s / b
L a
A
B ] SETTe ¢ . | 05
R R T
1000 2000 3000 4000 5000

oPhi
Th| [MeV]



	Contents
	Page 1


